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Time : 3Hrs. Sem - III - ME (Auto)  
Auto. Trans. Sys.

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

GROUP - A

In commercial vehicle, layouts, engine is

located forward, rear or underfloor mainly to

(a) Better utilization of space

(b) Increase fuel economy

(c) Have better weight distribution

(d) Reduce weight of chasis

The following is not friction clutch :

(a) Fluid clutch

(b) Centrifugal clutch

(c) Cone clutch

(d) Disc clutch
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(iii)

(iii)

(iv)

(ii)

depends upon the :

(a) Co-efficient of friction

(b) Spring force

(c) Contact surfaces

(d) All of the above

(a) Rectangular bar

(b) Round bar

(c) Round hollow tube

(d) Square hollow section
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10.

11.

6
and multi-plate clutch ? Write in detail.

Vehicle ? Describe in brief .

in detail.

Write short on the following :

(a) Automatic gear box

(b) Gear shift mechanism
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Write notes on fluid coupling in detail.

working of constant mesh gear box .

Mention the function of propeller shafts.

OR
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(iv)

(v)

(v)

(vi)

The tread distortion is least on

(a) Radial ply tyres

(b) Cross ply tyres

(c) Cross ply belted tyres

(d) None of the above

is to :

(a) Vary the speed of automobile

(b) Vary the torque at wheel

(c) Vary the power of automobile

(d) None of the above
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                 GROUP  - C

Answer all Five Questions.
6 x 5 = 30

Name different types of frame used in an automobile 

chasis. Explain any one with the help of sketch.

the rear engine rear drive vehicle and describe it 

in brief.

clutch and mention in which type of vehicle is 

it used ?

7.

6

6

5

(vii)

(vii)

(viii)

(vi)

An under inflated tyre will wear the tread most .

(a) Near centre

(b) Near the edges

(c) In the lateral direction

(d) In the cross direction

Constant velocity universal joint is used at :

(a) Front end of the propeller shaft

(b) Rear end of the propeller shaft

(c) Road wheel end of the shaft on front 

     wheel drive vehicles

(d) Differential end of the shaft on front 

     wheel drive vehicle.
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6.

What are difference in Hotchkiss drive and torque-

tube drive ? Mention those.

(a) in-board joint

(b) out-board joint
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(viii)

(ix)

(ix)

because.

(a) Solid shaft is weaker

(b) Its sag is smaller

(c) It is more rigid

(d) It resists wind up
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gear box.
(a) Sliding mesh gear box
(b) Constant mesh gear box
(c) Synchro mesh gear box
(d) Fluid gear box

In radial tyre .
(a) One ply layer runs diagonally one way 
     and another layer other way.
(b) All plies run parallel to one another and 
      vertical to tyre bead
(c) Inner tubes are always used
(d) None of the above

(x)

(xi)

(x)
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4.
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in brief.

How many types of gear box are there ? Explain 

any one of them.

Describe in brief.
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chasis ?

(a) Wheels

(b) Front axle

(c) Rear axle

(d) Passenger seats

The adjustment for backlash in a differential 

is provided between:

(a) Crown wheel and sun gear

(b) Sun gear and the planet gear

(c) Crown wheel and the drive pinion

(d) Crown wheel and the planet gear

(xiii)

(xii)

(xii)

(xiii)
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Answer all Five Questions.
4 x 5 = 20

What is difference between chasis and frame ? 

Discuss in brief.

in brief.
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the side members of the frame :

(a) Torsional moment

(b) Horizontal bending

(c) Vertical bending

(d) All of the above

is ........

(a) Straight leaf

(b) Twisted leaf

(c) Curved

(d) All of the above

(xiv)

(xiv)

(xv)
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(xix)

(xx)

(xx)

(a) One universal joint

(b) Centre support bearing

(c) The shaft to be solid

(d) None of the above
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(a) One bevel pinion

(b) Two bevel pinions

(c) Three bevel pinion

(d) None of the above

at :

(a) Front wheel

(b) Rear Wheel

(c) (a) and (b) both

(d) None of the above
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(xix)

(xviii)
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wheels of the vehicle, the .............. of vehicle 

will decrease.

(a) Petrol consumption

(b) Power

(c) Speed

(d) All of the above

improper adjustment or wear of sliding 

sleeve, generally results in :

(a) Clutch slip 

(b) Clutch failure to disengage

(c) Clutch plate over heating

(d) Uneven clutch engagement

(xvi)

(xvii)

(xvi)
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